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Solve the problems below. After you have done that, find the letters in the table that 
match each answer and write them, in order, in the spaces provided on page 2 to reveal a 
message!
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1.	 This number rhymes with hive. 

2.	 5 + 2 + 3 + 1 = 

3.	 50 ÷ 10 = 

4.	 Another name for one score 

5.	 The first even number 

6.	 60 - 5 - 3 - 10 - 2 - 8 - 2 = 

7.	 (3 x 3) + (3 x 6) + 1 = 

8.	 4 x 7 = 

9.	 A quarter of a century 

10.	 �25 biscuits, 4/5 were soggy. How many 
were good? 

11.	 �How many cents in 1/4 of $1.00? 

12.	 (3 x 3) x 2 =  

13.	 10 - 2 - 2 - 2 - 2 = 

14.	 99 - (8 x 11) = 

15.	 (2 x 2) x 7 = 

16.	 5 lots of 4 

17.	 2% of 100 = 

18.	 90 ÷ 6 = 

19.	 One quarter of 72 = 

20.	 1/5 of a century 

21.	 100 - 26 - 31 - 15 = 

22.	 96 ÷ 4 = 

23.	 82 - (8 x 8) = 

24.	 132 ÷ 12 =  

25.	 10 percent of 500 

26.	 60 ÷ 12 = 

27.	 �84 apples, 63 were rotten. How many 
were perfect? 

28.	 One third of 90 

29.	   x 12 = 1 gross

30.	 (512 ÷ 8) ÷ 8 = 

31.	 �56 Minties but only half had wrappers. 
How many had wrappers? 

32.	 �120 snails, 4/5 were babies. How many 
adults? 
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33.	 3 x (3 x 2) = 

34.	 �65 lollies, 50 were toffees. How many 
were not toffees? 

35.	 �82 pet rabbits, 64 were sold. How many 
were left? 

36.	 96 ÷ 12 = 

37.	 Ten percent of 170 = 

38.	 The square root of 121 = 

39.	 Cents in 1/2 of $1.00 

40.	 55 ÷ 11 = 

41.	 105 - (21 x 4) = 

42.	 5 x (3 + 3) = 

43.	 68 ÷ 4 = 

44.	 �17 black cherries + 11 red cherries. 
How many altogether? 

45.	 A perfect score is  percent

46.	 The product of 3 and 6 

47.	 3,748 - 3,746 = 

48.	 The square root of 64 = 

49.	 3 x (4 + 3) = 
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